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	Islam expanded rapidly in part because: 
Answer 
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	the Greek Orthodox church's belief in Arianism had alienated many Christians. 

	
	
	western Latin Christians opposed the Byzantine Empire. 

	
	
	of the capture of Jerusalem by the Persians. 

	
	
	of Islamic toleration for "People of the Book". 
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	Why did Constantine move the capital of the Empire from Rome to New Rome (Constantinople)? 
Answer 
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	The Visigothic invasion of Italy 

	
	
	The Patriarch of Constantinople had much higher prestige than the bishop of Rome 

	
	
	The wealth and larger Christian population of the region 

	
	
	because of the attacks of Attila the Hun 



	
	
	



	
	

	 
	Gregory I (r. 590-604) provides an excellent example of: 
Answer 
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	Germanic kingship. 

	
	
	the difficulties encountered by the Frankish custom of partible inheritance. 

	
	
	a successful missionary among pagans. 

	
	
	the growth of papal primacy in the West. 
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The Doctrine of Petrine Succession asserts that: 
Answer 
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	all Byzantine emperors submit to the Patriarch of Constantinople in religious matters. 

	
	
	the Latin Roman Church and the Greek Orthodox Church remain separate. 

	
	
	German kings practice partible inheritance. 

	
	
	the Apostle Peter was endowed by Jesus Christ with supreme responsibility of the Roman Church and that the pope was the successor to Peter. 
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	The hijra formed a turning point in Muhammad's career because it: 
Answer 
	
	
	

	
	
	
	
	marked the beginning of Allah's revelations. 

	
	
	began the siege and eventual defeat of Mecca. 

	
	
	became a fundamental duty of his (and Islamic) faith. 

	
	
	provided him with a political and military base. 
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	Arabia had never been conquered by either the Byzantines or the Persians because: 
Answer 
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	the Red Sea prevented an invasion. 

	
	
	Muslim fortifications made it militarily difficult. 

	
	
	of the Arabian Peninsula's harsh environment. 

	
	
	United Arab tribes deterred invasions. 
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	What is the most enduring accomplishment of the reign of Justinian the Great? 
Answer 
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	The separation of the Latin Christian Church from the Greek Orthodox Church 

	
	
	The unification of Gaul 

	
	
	The restoration of the Roman Empire 

	
	
	The systematic codification of Roman Law 
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	Iconoclasm, the policy initiated by Emperor Leo III, required that: 
Answer 
	
	
	

	
	[bookmark: question_10_answers][image: Question 10 answers]
	
	
	all icons be worshiped as true representations of God. 

	
	
	all soldiers (themes) lie and fight as collective unit (strategoi). 

	
	
	all religious texts had to be translated into Greek from Latin. 

	
	
	images of Jesus, Mary, and the saints be destroyed. 
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